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Question 10- A car can travel a distance Km @» urs.

Speed of a scooter 1s 50% less than the speed of the car and speed of a
bullock cart 1s 15 Km/h less than the speed of the scooter . Find the
respective ratio of the time taken by bullock cart and scooter to cover
a distance of 450 km

T4 10- Ueh s 19 S | 1140 fortft shT gt 7 ot wshell 2| Teh Thel
Tl T 3hT ATHT | 50% A & I SRS shl T TR hl 1A & 15
fertfl/eieT shu B SIeTTel ST Thet g1 450 ferut =ht ol o ot ¥ ot 1Tg

A T Gl (e AT 1 shifor A1
30 B- 1:2

C-2:3

D- 3:2

E- none of these
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Question 11- A bag contai@ (S sweeDanid (y+4) appls. If
om and the

two fruits are taken at rand probability of getting both are
oranges 1s 1/14, then find the value of y.
T 11- Th ST H 6 Hay, 5 7S 3R (y+4) T 2| AS &1 Sl ol IG5
Y Y forarm ST @ 7 g Rl Hal firer i 9yTadT 1/14 8, @ y &1 a1
RIGEIISR] |
A- 35
B~ 6
C-7
D- 8

E- none of these
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Question 12- 3, 6, 23, 150, ?, 14666

TXE=F=(
A- 1224
6X5— =3 B~ 1335
w50 5= li= 150 =
s |S0x9< 15 - e E- 2231

_———

30
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Question 1- 144 added to 80% of a number results in 188.

Find the number.
== U2 o den H@ql °h SO%ﬁ 144 °h| \TlISI Stldl %W 1888}

ST & | T 1 i |
@O%glﬂ“llm: 88 A- 35
B- 65
SKJ: ﬁ“‘f” | €< 55
Y= 5¢ 20 D- 85

E- none of these
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Question 2- What approximate value should come 1n the place of

question mark (?) in the following question?
(PS> Trfcriad v 1 w3 g (?) oh T W AT 9T 41 ST =0
19.88% of 119.89 + ¥/216.06 - {624.99)= 2

=20/ 1R0+ ¢~ 25 A3

P B- 16

i H46-25 C-25
= é | D- 11

— 30 E- 20
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Question 3- What approximate value should come 1n the place of

question mark (?) in the following question?

- Frafofaa v 8 g4 g (2) % S W STATNG 919 41 37T =R

\)\)@/ (76.98 X 10.94 + 6.96 + 1.9) = ¥/26.89 = ?
]
e
% /? ] _B- 41
= | C- 35
= @ D- 15
- H% 30 o
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Question 4- What approximate value should come in the place of

question mark (?) in the following question?

HHTTReT w2 | 951 1@ (?) o S 9L STIATH HH 1 ST = 11e0?
49.827% ot 1119.61 - 7% of 1600.092 = 79.762

50%,? //20~1°/o§7/6001 &O A= 30

B- 55

366-163= §¢, C- 15

16X = 495 D- 26

A= % 30 E- 10
S
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Question 5- What approximate value should come in the place of question

mark (?) in the following question?

Wq&rﬁq&rﬁa(?)%ww AT HI T STHET 18T
29999 of 13200.04 +74.78% of 1199.89 —50.78X50.78 =?

—
e .
i 3 AgﬁlBQoo+¥5%§;Qoo~<5;) \/gggz
- C- 1205
% = 30]6“’?00 \“{60\ D- 1005
5) = = R96-3s 30 E- 885
WP = e
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Question 6- A can complete a work 1n 60 days. B 1s 20% more efficient than
A. They work together for 20 days. D alone completes the remaining work-in
20 days who 1s 20% less efficient than C. In how much time C and D
complete the 20% of work by working one day each on alternatively.

T 6- A Ueh o ol 60 ol H U T Hehcll 81 B, A Sl T H 20% 318k 1
21 o 20 faT o TeTT T |1er shTH #Xd &1 D 37kt 19 1 ol 20 oAl W 90 et 8

ST C | 20% #3781 C 3R D deh{cdeh 9 § Teh-Ush fa it shich 20%

Tl oh! o THT H 9 3hLd o2 A- 12 days
Q6 = | ' -~ CB< 13.25 days
‘OO\':_&X@@ C_- 15 days
N D- 20 days
25 23 E- none of these
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Product manufacturing of two companies names Blue and
' Orange 1n different phase as A, B, C, D, E o
A, B, C, D,E & &9 H [of¥=T =0T H 5¢] TR S A a1 shu =i
: o Icre fAmtor

950

750




Question 7- If production of each product cost Rs 200 in phase A for
company Blue and Rs 240 for company Orange in same phase then find the

total cost of production of both companies 1n the given phase.

Ife Ik IcUTe o ScdTeH ohl ATl ShUT 5] o foTq =T A | 200 &9 S shHt
Eﬂ?{ﬁ%ﬁm 240 T4 7, ﬁﬁquﬁaﬁm % IcTe ohl el AT

A- 77000
B- 87000
C- 57000

- D-47000
E<hone




Tl f (ot = T50X=00 + 300540

= [900co+ Toop

=222000 &
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Question 8- It production cost in phase D for Blue and Orange 1s Rs 320 and

Rs 400 respectively and the profit of both companies is 20% and 25%

respectively then find total income of both companies.

fE =0T D H o] 3R AR & foTT T AR SHAT: 320 T 400 TR T
(30)_ T T SHUTIT ShT AW SHHT: 20% HN 25% &, A Q1 U1 T Hel & 1
CI IR

Sulbeg

A-Rs 658200
%' —B-Rs 557200
e C- Rs 427200

" D-Rs 678200

“E< none




o _
M (P of D= 3Rox8oo

e 9D Orng = Hoox 500

757&] oy — [0 3{3%0)«519@ 4 /QS@g LooX 584
\3\ 3X () = l“?OX3~€oX&+ X5 0000
256 |0 30R004 S ogs
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Question 9- If in phase F production of both companies(Blue and Orange)

increased by 20% and 45% respectively with respect to phase D. Then what
is the average production of both companies during phase C,D and F. |
7 9- Ife =0T F H ST shafit (o] ST 37T o Seure H =0T D ¥ ShT:
30) 20% 3ﬁt45%a?raﬁsz€‘s‘%a%wc D 37K F o SR ST shu 1T a1 ofred

SeqTe RIT 27 Q07.

A- 1200
B- 1240
= 1345
- D- 1400

E- none
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A

0SBl _ -
Aungge= (050 + 1800 1 R4 800+ 5/ S5 00
3
= T AE00T Iperuc
o : :

IBOS = T3%+ jggs

S = L‘Q&?S
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Question 10- A person place a bomb 1n a building and run away with speed

30 meter/sec. If the blast occurs after 40 seconds then after how much time

the he will listen the sound. Speed of souid 330 meter/second.

T 10- Ueh i<k Ush SR U oF W&l & 3T 30 Hey/aehe hl Tid & 91T STdT 2|
fe fIEhIe 40 HehS o SI1Q BIAT &, T fohd {HA o SIS 8 €A1 AT Lol hi

e 330 Hic/8ehs gl ( Q
@ D: L{O)(}O (WY) A- 3.6 sec
. = IQOO m ( QJW\C{ > B. 3.Sec
Tl lQOO‘_ ‘ 30 \_%4 SCC
(3 36~ 30y ) / D- 5 sec
— Hé_(_’ E- none
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Question 11- Ajay appears in an examination where his marks in
Hindi 1s 20 marks more than what he got in Maths . Find his marks
in Hindi |
Statement I — Average marks of Maths and English 1s 71.5. The ratio
of marks of Practical and Theory in Maths 1s 6 : 5 and 1n English, it
1s15:7

Statement II —Ratio of marks obtained in the theory exam of Maths

and English 1s 1 ¢ 2. The ratio of marks of Maths and English 1s 5 ¢ 8
T 11- 31T Ueh YA W IUfXerd BIdT B STaT det H 38eh 37k Mg |
ITH 37ehl § 20 31k 3T1eeh &) [Eal T I6eh 3ieh J1q ehiTo

U [ — TTOTT 3T FUSH o q 3k 71.5 8l T § Yfereshet 31T

S o 3Rl T STAC 6 : 58 AL U H, I8 15:78

Y 11 — TIOT ST SIS T <ART e § IT6 31ehi ohl AT 1 2 2 2
T S SIS ok Sohi AT SFAATT 5 : 8 8




A-. Either I or II 1s sufficient

B- Statement II alone is sufficient

C- .Neither of the statement is sufficient
D-.Both I and II together is sufficient

E- Statement I alone 1s sufficient



Question 12- A train can cross a bus which 1s running with speed 60 km/h 1n
same direction as that of train in 36 seconds while the train can cross a

platform of length half of the length of train in 27 seconds, then what 1s the
length of the platform. |

T 12- Teh o 60 TehHI/SieT 3hT 71T © =t Tal Ueh &1 ohl o ohl T11dl oh THT TG |
36 Behe T YT L Hehd| &, STo{eh ¢ o ehl TalTg ohl ST SIS & ICHIH ol 27
Yohe H UN T Gehd] &, T TIEhH ohl AlTs o7 27

A-20 km
B- 40 km
30 C- 50 km
D- 15 km
HEZnhone of these
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Question 13- There are 6 consecutive odd numbers. In which product of first

and second number if 483. Find the average of middle two terms.

TS 13- 6 SHUTTC fayq T & YRl S ZHL EEAT o UGS H Al 483 %‘?
HeT 21 Uel ﬁmaﬁﬁﬁql

A- 26
B- 25
C-33
D-24

5- none of these
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